TERRA SOLID WOOD CURVED BACK DINING CHAIR
Congratulations on your Target purchase.

Now what? Don't start sweating over this box of parts. This will be easy. We did the hard
work for you. All you need to do is follow our simple instructions and you'll be on your way to
transforming your room in no time.

Good luck -- thought we're confident you won't need it.

Before you begin:

Check for damage or missing parts. Call 855-MYTGTHOME (855-698-4846) to order
missing supplies.

Use the carton as a working surface to prevent product damage during assembly.
Gather all tools prior to assembly.

DISCLAIMER: This video incorporates the instructions provided by the manufacturer with this product.
Target will not be liable for any damage or injury based on your reliance on the content provided.

The required hardware parts are:

The allen wrench is labeled as (H1) x 1.

The M6 x 35 mm hex bolts are labeled as (H2) x 8.

The M6 x 1,5 mm lock washer are labeled as (H3) x 8.

The M6 x 2 mm flat washer are labeled as (H4) x 8.

The M6 x 20 mm countersunk bolts are labeled as (H5) x 8.

The parts for assembly are identified alphanumerically for ease.
The arm is labeled as A.

The front leg is labeled as B.

The back leg is labeled as C.

The seater is labeled as D.

STEP 1:

Attach seater (D) to front leg (B).

Insert lock washer (H3) flat washer (H4) to the bolt (H2) and insert them to pre-drilled hole
on the seater to assembly with front leg (B) and then tighten 80% with allen wrench (H1).

STEP 2:

Attach seater (D) to back leg (C).

Insert lock washer (H3) flat washer (H4) to the bolt (H2) and insert them to pre-drilled hole
on the seater to assembly with back leg (C) and then tighten 80% with allen wrench (H1).

STEP 3:

Attach front leg (B) and back leg (C) to arm (A).

Attach front leg (B) and back leg (C) to the arm (A) and insert bolt (H5) to pre-drilled hole
and then tighten with allen wrench (H1) and finally tighten all bolt 100%.

STEP 4:

If the floor is uneven adjust the recessed levelers found on the bottom of the furniture.
Carefully grasp one side of the furniture and elevate it slightly to provide access to levelers.
Turn the leveler until adequate contact will be made with the floor.

Carefully set the furniture down.

Repeat until the furniture sits level and stable.



Your assembly is complete. Your unit is now ready for use.
The red TARGET logo appears and fades from the screen.



